Scientific Method

A way of w_._m:rm:m in which scientists follow steps to
and

-y

(ask a n_COmﬁmozu
mno:mcnw Rmnm_.nru

Quo_.:_:_mwo an educated mcnmmu

(testh mTOwrommmu

nno__on._n n_mwmu

mm:m_ z¢ and report ﬂm:_wmu
9 P

A 0O T

o.o._unm.n based on _.nm:_wmu

Start with a

* cmcm__.c stated as a A:nmmo.., Z,ﬁl.l/\m_ﬂ yes orno wmmunm of Acommo_._m

{What is it that we are trying to mm..:.n out?)

T he form of the n_cnmmo_._ should be: Which or FHow will the
variable affect the

variable.

mxmamu_om"

—I_Os_ will the romm_._.w of the ramp affect the distance the car will travel from
the end of the wm_._.__u.w

Which ratio of salt to water will freeze in the shortest amount of tme?

Zan you formulate a

T his is an educated guess/| _u_.nn_mnmo_._ based on

mm._uTﬂﬂﬂm .ﬂ_'O_.: LOm-.._m _..OMOmﬂnT or TO_..MO_...N_ Oxmuﬂﬂmﬂﬂnnm.

* mu_.nmmnw using a cause and effect statement n:mcm:m_ iF ~then statement)

_.M‘xma_u_om“

| think that the car on the 8cm high ramp will travel the furthest distance
P

from the end of the ramp because itis the OTmo_\_ that will have the most

Town:mm_ energy to convert to kinetic energy.

| think that the ice cube with the least amount of salt (1 ._um_uV will freeze in
the shortest _unlom of time because when | add salt to the L1<0imm it

doesn’t allow the water to freeze as fast.

Now you are going to set up an te

TO_T m0—<0 Oor answcr EDCﬂ ﬁﬂnm._nmnud.

- _Unmmm: the nx_unlan_._.n to n_.um:._m show a one mumq.mnc_m:.
factor causing a certain outcome.

- <<_._mw is the TﬂOnOn_cﬂo you will follow?

t<<_-.mw. materials would someone need to conduct your nx_unlan:w




TERMS TOKNOW

ﬁumn._uo_." O_._ to the Tmlu where we mnw:m__m find out what we have leamed! Zoi we

rm<0 to m:m_mwn w_._n _.nm:_wm m:m mn_o_._wm“m our

Control variables: | WRITING A GOOD CONCLUSION

1. RESTATEYOURRYFOTHESIS

2. RESTATEYOURFPROCEDURES AND DATA
: <<_._m¢ mnw:m_um rmT_uozon._.w . .

Independent Variables: , 5. TELL WHETHER YOUR HYPOTHESIS WAS

CORRECT ORNOT

+ TELLOF ANY CIRCUMSTANCES OR

- ERRORSMAY HAVE. CHANGED/AFTECTED

Un_un:n“n:,_u Variables: YOURRE. SULTS.

5. REFLECT BACK ONTHE PROBLEM.
<<_._mw did you learmn?

_UOmmm_u_o sentence starters for your conclusion:

The Olm:._m_ rmﬂOwrnmmm was . The
As you conduct the nx_unl_.:n:,w you will be Rno_.n::m the proce dures used ﬁcmcm:.&.:m\n a
(data) mo:o_um_ overview). [rom this, the data indicates that
(Observations can be numerical (numbers i time, length, mass, volume etc) but . T herefore the rmTOwrommm was found to be
._urom can also be words that describe. because . >: erro

that may have affected our results . \D,w

T his is where data is recorded in wrm:mm such as data tables.
- the end of this lab | have learned

* T he more data that is recorded, trials .n.u..ﬁu_nwomu the more

certain we are that we did mn.On_ work and it imm:#;.:mw a fuke. trials

is a minimum base number to work with. More is _uoiun_..wrocmr.



